a(d cot(d))

0(0 @) (rad)

Ratio

2 3 2 3
§ (pca tbeamiindf 19 (pca tbeamindf

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKIPUSU__RECO

—e— DQM_V0001_R000000001__Global_CMSSW_mkFitPU50__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50LowPtQuad__RECO

—— DQM_V0001_R000000001 _Global__CMSSW_mKkFitPU50LowPtQuad-noBkwd__RECO

= = :
= £ :
5 G Lo DT U b oo iraramenanaraanane
2 e :
= = :
E) = :
> b 3 HEE R I EEY EEEEEETEL ERLTERERTE
o ° IR
3 o 4[+4

107 5
.910_3' Py 1072 it e
=P S R : 0 S
(14 o A4 : L
: I# S |
& A e I - | T e RLLEECEETEE
S0l : _&
-1 2 -1 2 3
10 1 TPp_ (PCA tjbobeamllné'f) 10 1 TPlp?T (PCA tjbobeamliné'f)
.
o :
o : il
5 [ : 2 S O A

2 3
poT (PCA t%)obeamlin%)o



	Contents
	Page 1


